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G=

Vn, Vt, P, s

a+b

atb*c
(a+b)*c+d
a+tb*c*(d+e)
a*b*c+d+e
a*b/(a+b)

S - (L)]a
L - S{,S}

a, b, c
Vn, Vt, P, s



P={

G1:

G2:

G3:

G P, B
B_.B CJ|C
C-C D|D
D--D|(B)lalb

Vn
Vt
a (b -a) b

NFA, DFA,
a(a]b)*bb
(alb)*abb
(ab]bc)*a(b]c)
(alb)*a(a]b)
(a]b)*ab(a]b)*c
(alble )(@b]b)*bc
(abJc)*(bca)*

(G1,G2,G3,G4) , (L)First
LL(1)
S - aBd
B - bC
C - c]e

S - aBc
B -~ bC
C - cle

S - ABa

B - bje

(2) Follow

DFA

. (3)



G4: S 5 iCtSS' |Ja
S -eS| ¢
C-b

G4 if then if then_else

(a b)*c/(a b)

10

LL( )

11 Flex Bison



